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SOCIAL SCIENCE 

(History, Political Science, Geography and Economics) 

(Academic/Open) 
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•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 15 rFkk iz'u 
35 gSaA  

Please make sure that the printed pages in this 

question paper are 15 in number and it contains    

35 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks 
Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij fy[ksaA 

The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 

SET : A 

MAP 
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•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 
vo'; fy[ksaA 

Before beginning to answer a question, its Serial 

Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 

Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% 
vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u dkVsaA 

Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the 

question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= 
iw.kZ o lgh gS] ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok 
Lohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination. 
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lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

General Instructions : 

 (i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

  All questions are compulsory. 

 (ii) lHkh iz'uksa ds vad muds lkeus n'kkZ, x, gSaA  

  Marks of all the questions are shown against 

them. 

 (iii) fdlh iz'u ds lHkh Hkkxksa ds mÙkj ,d LFkku ij lkFk-lkFk 
nhft,A  

  Attempt all parts of a question together.  

 (iv) 1 vad okys izR;sd iz'u dk mÙkj ,d okD;,d okD;,d okD;,d okD; ls vf/kd u 
gksA  

  Answer to each question carrying 1 mark 

should not exceed more than one sentence.  

 (v) 2 vadksa okys izR;sd iz'u dk mÙkj 30 'kCnksa ls vf/kd u 
gksA  

  Answer to each question carrying 2 marks 

should not exceed 30 words.   

 (vi) 3 vadksa okys izR;sd iz'u dk mÙkj 40 ls 60 'kCnksa ls 
vf/kd u gksA  

  Answer to each question carrying 3 marks 
should not exceed 40 to 60 words.  
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 (vii) 6 vadksa okys izR;sd iz'u dk mÙkj 100 ls 125 'kCnksa ls 
vf/kd u gksA  

  Answer to each question carrying 6 marks 

should not exceed 100 to 125 words. 

 (viii) iz'u la[;k 8 ,oa 28 ds fy, fn, x;s HkkjrHkkjrHkkjrHkkjr ds js[kk 
ekufp= dks viuh mÙkj&iqfLrdk ds lkFk vo'; layXu 
dhft,A 

  You must attach the given outline map of 

India for Question Nos. 8 and 28 along with 

your answer book. 

 (ix) Ñi;k ekufp= ij viuh mÙkj&iqfLrdk dk ØekadmÙkj&iqfLrdk dk ØekadmÙkj&iqfLrdk dk ØekadmÙkj&iqfLrdk dk Øekad vo'; 
fyf[k,A 

  You must write your Answer Book Sr. No. 

on the map. 

   [ bfrgklbfrgklbfrgklbfrgkl    ]  [ M. M : 20 

[ HISTORY ]    

  1. teZu egkla?k dh LFkkiuk fdlus dh \ 1 

 Who had been setup the German   

Confederation ? 
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  2. Ýsap b.Mks-pkbuk dk xBu gqvk % 1 

 ¼v½ 1897  ¼c½ 1887 

 ¼l½ 1858  ¼n½ 1867 

 French Indo-China was formed in : 

 (a) 1897 (b) 1887 

 (c) 1858 (d) 1867 

  3. ^gkse pktsZt* ¼ns'kh [kpZ½ D;k Fkk \ 1 

 What was the 'Home Charges' ? 

  4. oSf'od ¼fo'oO;kih½ Ñf"k vFkZ O;oLFkk dc lkeus vkbZ \ 1 

 In which year Global agricultural economy had 

been taken shape ? 

  5. oukZdqyj ;k ns'kh çsl ,DV dk o.kZu dhft,A 3 

 Describe the Vernacular Press Act. 

  6. tkiku esa eqæ.k rduhd dk o.kZu dhft,A 3 

 Describe the printing technology in Japan. 

  7. 19oha lnh ds vkjfEHkd /kkfeZd lq/kkjksa dk o.kZu dhft,A 6 

 Describe the religious reforms in the early 19th 

century. 
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vFkokvFkokvFkokvFkok    

OR 

 yUnu esa vk, lkekftd ifjorZuksa dh O;k[;k djsa] ftuds dkj.k 
Hkwfexr jsyos dh t:jr iSnk gqbZA 

 Explain the social changes in London which lead 

to the need for under ground Railway. 

  8. fn, x, HkkjrHkkjrHkkjrHkkjr  ds js[kk ekufp= ij fuEufyf[kr LFkkuksa dks 
n'kkZb, % 

 On the given outline map of India show the 

following places : 

   (i) og LFkku tgk¡ xk¡/khth us çFke lR;kxzg Hkkjr esa pyk;kA 1 

  The place where Gandhiji organized first 

Satyagrah Movement. 

 (ii) og LFkku tgk¡ ekpZ 1919 esa f[kykQr lfefr dk xBu 
fd;k x;kA      1 

  The place where the Khilafat Committee 

was formed in March 1919. 

 (iii) og LFkku tgk¡ flrEcj 1920 esa dkaxzsl vf/kos'ku gqvkA1 

  The place where the Congress Session held 

in September 1920. 
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 (iv) og LFkku tgk¡ fnlEcj 1929 esa ^iw.kZ Lojkt* dh ek¡x 
dh xbZA      1 

  The place where 'Purna Swaraj' was 

demanded in December 1929. 

¼¼¼¼dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½    

(For Blind Candidates only) 

uksV %uksV %uksV %uksV %        fuEufyf[kr iz'u dsoy    n`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 
8 ds LFkku ij gSa %  

  The following questions are only for Blind 
Candidates in lieu of Question No. 8 :   

 (i) xk¡/khth us Hkkjr esa çFke lR;kxzg dgk¡ fd;k \  1  

  Name the place where Gandhiji organized 

first Satyagrah Movement. 

 (ii) ekpZ 1919 esa f[kykQr lfefr dk xBu dgk¡ fd;k 
x;k \       1   

  Name the place where the Khilafat 

Committee was formed in March 1919. 

 (iii) flrEcj 1920 esa dkaxzsl vf/kos'ku dgk¡ gqvk \  1 

  Name the place where the Congress Session 

held in September 1920. 
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 (iv) fnlEcj 1929 esa ^iw.kZ Lojkt* dh ek¡x dgk¡ dh xbZ \ 1 

  The place where 'Purna Swaraj' was 

demanded in December 1929. 

   [    jktuhfr foKkujktuhfr foKkujktuhfr foKkujktuhfr foKku    ]  [ M. M : 25 

[ POLITICAL SCIENCE ]    

  9. flagyh dks jktHkk"kk dk ntkZ fn;k x;k % 1 

 ¼v½ 1947 esa  ¼c½ 1956 esa 

 ¼l½ 1950 esa  ¼n½ 1949 esa 

 'Sinhala' recognized as official language in : 

 (a) 1947 (b) 1956 

 (c) 1950 (d) 1949 

10. fgUnh Hkk"kk cksyus okyksa dh la[;k dk D;k izfr'kr gS % 1 

 ¼v½ 40.2%  ¼c½ 39.2% 

 ¼l½ 45.2%  ¼n½ 49.5% 

 What is the percentage of Hindi language 

speaking population ? 

 (a) 40.2% (b) 39.2% 

 (c) 45.2% (d) 49.5% 
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11. QsMsdksj uked laxBu fdl ns'k dk gS \ 1 

 Name the country of FEDECOR organization. 

12. ^;ksnkZUdk* dkSu Fkh \ 1 

 Who was Yordanka ? 

13. ^,Fkuhd* ;k tkrh; ls vkidk D;k vfHkçk; gS \ 2 

 What do you mean by 'Ethnic' ? 

14. usiky esa mBs yksdra= ds vkUnksyu dk fof'k"V mn~ns'; D;k   
Fkk \  2 

 What was the specific objective of Nepalese 

Movement for Democracy. 

15. jktuhfrd nyksa }kjk pUnk lEcU/kh nksnksnksnks lq/kkjksa dks fyf[k,A 2 

 Explain two reforms proposed for political 

funding. 

16. ikuh ds futhdj.k ds f[kykQ cksfyfo;k esa tks vkUnksyu pyk 
mldh vxqokbZ fdlus dh \ 3 

 Who led by the protest against water 

privatization in Bolivia ? 

17. çkUrh; ny dk o.kZu dhft,A 3 

 Describe State Party. 
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18. vyksdrkfU=d O;oLFkk esa vktknh vkSj xfjek u rks oS/kkfud :i 
ls ekU; gS u uSfrd :i lsA O;k[;k djsaA 3 

 In a non-democratic setup freedom and dignity 

is not legally nor morally recognised. Explain it. 

19. Hkkjrh; la?kh; O;oLFkk ds çeq[k y{k.kksa dk mYys[k djsaA 6 

 Mention the main characteristics of Indian 

Federal System. 

vFkokvFkokvFkokvFkok    
OR 

 yksdrU= esa jktuhfrd nyksa dh fofHkUu Hkwfedkvksa dk o.kZu 
dhft,A 

 Describe the various roles performed by political 

parties in Democracy. 

   [ Hkwxksy Hkwxksy Hkwxksy Hkwxksy ] [ M. M : 20 

[ GEOGRAPHY ]    

20.    Hkkjr ds fdl jkT; esa dkthjaxk jk"Vªh; m|ku fLFkr gS \ 1 
 ¼v½ vle ¼c½ dsjy 
 ¼l½ mÙkjk[k.M ¼n½ if'pe caxky 
 In which state of India Kaziranga National Park 

is located ? 

 (a) Assam (b) Kerala 

 (c) Uttarakhand (d) West Bengal 
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21. fuEufyf[kr esa dkSu-lh jch dh Qly gS \ 1 

 ¼v½ pkoy ¼c½ cktjk 
 ¼l½ puk ¼n½ dikl 
 Which one of the following is a 'Rabi' Crops ? 

 (a) Rice (b) Millets 

 (c) Gram (d) Cotton 

22.    [kfut D;k gS \ 1 
 What is Mineral ? 

23. HkkSety ;k Hkwfexr ty fdls dgrs gSa \ 1 

 Define Underground Water. 

24. Ñf"k ij vk/kkfjr m|ksxksa ls vki D;k le>rs gSa \ buds dksbZ 
nksnksnksnks mnkgj.k nhft,A 2 

 What is Agro based industries ? Give any two 

examples. 

25. laHkkO; lalk/ku fdls dgrs gSa \ blds dksbZ nksnksnksnks  mnkgj.k nhft,A 2 

 What is Potential Resources ? Give any two 

examples. 

26. cgqmn~ns'kh; ifj;kstuk fdls dgrs gSa \ blds dksbZ rhurhurhurhu ykHk 
fy[ksaA  3 

 What do you mean by Multi-purpose project ? 

Give its three benefits. 
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27. lapkj ds dkSu-dkSu-ls eq[; lk/ku gSa \ budk Hkkjrh; 
vFkZO;oLFkk ij ldkjkRed Hkwfedk dk la{ksi esa o.kZu djsaA 6 

 Which are the main means of Communication ? 

Explain their positive role in the Indian Economy. 

28. fuEufyf[kr dks HkkjrHkkjrHkkjrHkkjr  ds ekufp= esa n'kkZ,¡ % 
 Marked the following in the outline map of  

India : 

   (i) isfj;kj ck?k fjtoZ   1 

  Periyar Tiger Reserve 

 (ii) dSxk   1 

  Kaiga 

 (iii) fMxcksbZ      1 

  Digboi 

¼¼¼¼dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½    
(For Blind Candidates only) 

uksV %uksV %uksV %uksV %        fuEufyf[kr iz'u dsoy    n`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 
28 ds LFkku ij gSa %  

  The following questions are only for Blind 
Candidates in lieu of Question No. 28 :   

   (i) isfj;kj ck?k fjtoZ fdl jkT; esa fLFkr gS \ 1 

  In which state Periyar Tiger Reserve is 

located ? 
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 (ii) dSxk fdl jkT; esa fLFkr gS \  1 

  In which state Kaiga is located ? 

 (iii) fMxcksbZ fdl jkT; esa fLFkr gS \   1 

  In which State Digboi is located ? 

   [ vFkZ'kkvFkZ'kkvFkZ'kkvFkZ'kkL=L=L=L=    ]  [ M. M. : 15 

[ ECONOMICS ]    

29. çkÑfrd lalk/kuksa dk mi;ksx djds ,d oLrq dk mRiknu]         
------------- {ks=d dh xfrfof/k gSA 1 

 ¼v½ çkFkfed  

 ¼c½ f}rh;d 

 ¼l½ r`rh;d 

 ¼n½ lwpuk çkS|ksfxdh 

 Production of a goods by exploiting the natural 

resources, is an activity of the ………… sector. 

 (a) Primary 

 (b) Secondary 

 (c) Tertiary 

 (d) Information Technology 
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30. lkekU;r% fdlh ns'k dk fodkl fdl vk/kkj ij fu/kkZfjr fd;k 
tk ldrk gS \ 1 

 ¼v½ çfr O;fDr vk; 

 ¼c½ vkSlr lk{kjrk nj 

 ¼l½ yksxksa dh LokLF; fLFkfr 

 ¼n½ mijksDr lHkh 

 Development of a country can generally be 

determined by : 

 (a) its per capita income 

 (b) its average literacy level  

 (c) health status of its people 

 (d) all of the above 

31. Hkkjr dh dsUæh; ljdkj dh vksj ls djsalh uksV dkSu tkjh 
djrk gS \ 1 

 Which authority issues the currency notes on 

behalf of the Central Government of India ? 

32. MCY;w0 Vh0 vks0 (WTO) dk iw.kZ :i fyf[k,A 1 

 Write full form of W.T.O. 

33. egkRek xk¡/kh jk"Vªh; jkstxkj xkjaVh vf/kfu;e] 2005 dk D;k 
mn~ns'; gS \ 2 

 What is the objective of MGNREGA 2005 ? 
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34. xjhcksa ds fy, Lo;a lgk;rk lewg ds fdUgha rhurhurhurhu Qk;nksa dk 
o.kZu djsaA 3 

 Describe any three advantage of Self Help 

Group of the poor. 

35. miHkksDrkvksa ds N% vf/kdkj dkSu-ls gSaa \ la{ksi esa fyf[k,A 6 

 What are the six rights of consumers ? Explain 

in brief. 

vFkokvFkokvFkokvFkok    

OR 

 /kkj.kh;rk dk fo"k; fodkl ds fy, D;ksa egÙoiw.kZ gS \ 

 Why is the issue of sustainability important for 

development ? 

s 
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Series : Sec. M/2019 

Roll No. 

lkekftd foKkulkekftd foKkulkekftd foKkulkekftd foKku    
SOCIAL SCIENCE 

(History, Political Science, Geography and Economics) 

(Academic/Open) 

 [ fgUnh ,oa vaxzsth ek/;e ] 

[ Hindi and English Medium ] 

(Only for Fresh/Re-appear Candidates) 

le; : 3 ?k.Vs ]  [ iw.kk±d : 80 
Time allowed : 3 hours ] [ Maximum Marks : 80 

•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 15 rFkk iz'u 
35 gSaA  

Please make sure that the printed pages in this 

question paper are 15 in number and it contains    

35 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks 
Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij fy[ksaA 

The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 

SET : B 

MAP 
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•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 
vo'; fy[ksaA 

Before beginning to answer a question, its Serial 

Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 

Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% 
vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u dkVsaA 

Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the 

question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= 
iw.kZ o lgh gS] ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok 
Lohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination. 
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lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

General Instructions : 

 (i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

  All questions are compulsory. 

 (ii) lHkh iz'uksa ds vad muds lkeus n'kkZ, x, gSaA  

  Marks of all the questions are shown against 

them. 

 (iii) fdlh iz'u ds lHkh Hkkxksa ds mÙkj ,d LFkku ij lkFk-lkFk 
nhft,A  

  Attempt all parts of a question together.  

 (iv) 1 vad okys izR;sd iz'u dk mÙkj ,d okD;,d okD;,d okD;,d okD; ls vf/kd u 
gksA  

  Answer to each question carrying 1 mark 

should not exceed more than one sentence.  

 (v) 2 vadksa okys izR;sd iz'u dk mÙkj 30 'kCnksa ls vf/kd u 
gksA  

  Answer to each question carrying 2 marks 

should not exceed 30 words.   

 (vi) 3 vadksa okys izR;sd iz'u dk mÙkj 40 ls 60 'kCnksa ls 
vf/kd u gksA  

  Answer to each question carrying 3 marks 
should not exceed 40 to 60 words.  
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 (vii) 6 vadksa okys izR;sd iz'u dk mÙkj 100 ls 125 'kCnksa ls 
vf/kd u gksA  

  Answer to each question carrying 6 marks 

should not exceed 100 to 125 words. 

 (viii) iz'u la[;k 8 ,oa 28 ds fy, fn, x;s HkkjrHkkjrHkkjrHkkjr ds js[kk 
ekufp= dks viuh mÙkj&iqfLrdk ds lkFk vo'; layXu 
dhft,A 

  You must attach the given outline map of 

India for Question Nos. 8 and 28 along with 

your answer book. 

 (ix) Ñi;k ekufp= ij viuh mÙkj&iqfLrdk dk ØekadmÙkj&iqfLrdk dk ØekadmÙkj&iqfLrdk dk ØekadmÙkj&iqfLrdk dk Øekad vo'; 
fyf[k,A 

  You must write your Answer Book Sr. No. 

on the map. 

   [ bfrgklbfrgklbfrgklbfrgkl    ]  [ M. M : 20 

[ HISTORY ]    

  1. ,d teZu iapkax ¼;k frfFki=½ dk eq[k i`"B fdlus fMtkbu 
fd;k \ 1 

 Who designed the cover of a German almanac ? 
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  2. ^n fgLVªh vkWQ n ykWl vkWQ fo;ruke* fy[kh xbZ % 1 

 ¼v½ Qku cksbZ pkÅ ds }kjk ¼c½ fy;kax fdpkvks ds }kjk 

 ¼l½ jktdqekj dqvkax ds }kjk ¼n½ dU¶;wf'k;l ds }kjk 

 'The History of the Loss of Vietnam' was written 

by : 

 (a) Phan Boi Chau (b) Liang Qichao 

 (c) Prince Cuong (d) Confucius 

  3. bUnqys[kk (1889) uked miU;kl dk ys[kd dkSu Fkk \ 1 

 Who was the writer of Novel 'Indulekha' (1889) ? 

  4. gksvk-gkvks vkUnksyu dc 'kq: gqvk \ 1 

 In which year Hoa-Hao movement began ? 

  5. ^tkcj* ls vkidk D;k vfHkçk; gS \ 3 

 What do you mean by Jaber ? 

  6. ^fcfCy;ksFkhd Cyh;w* ls vkidk D;k vfHkçk; gS \ 3 

 What do you mean by Bibliotheque Bleue ? 

  7. vk/kqfud 'kgjhdj.k dh çfØ;k dk o.kZu dhft,A 6 

 Describe the process of modern urbanization. 
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vFkokvFkokvFkokvFkok    

OR 

 Hkk"kk us jk"Vªh; Hkkoukvksa ds fodkl esa egÙoiw.kZ Hkwfedk fuHkkbZ 
gSA O;k[;k djsaA 

 Language play an important role in developing 

nationalist sentiments. Explain it. 

  8. fn, x, HkkjrHkkjrHkkjrHkkjr  ds js[kk ekufp= ij fuEufyf[kr LFkkuksa dks 
n'kkZb, % 

 On the given outline map of India show the 

following places : 

   (i) og LFkku tgk¡ tujy Mk;j ds vkns'k ij xksyh pykbZ xbZA 

 1 

  The place where General Dyer's order to 

fire. 

 (ii) og LFkku tgk¡ 6 tuojh 1921 dks iqfyl us fdlkuksa ij 
xksyh pykbZA      1 

  The place where police fired at peasants on 

6 January 1921. 

 (iii) og LFkku tgk¡ 1922 esa vlg;ksx vkUnksyu fgald :i 
esa cny x;kA      1 

  The place where Non-cooperation Movement 

turned into violent in 1922. 
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 (iv) og LFkku tgk¡ flrEcj 1932 esa iSDV ij gLrk{kj gq,A 1 

  The place where Pact of September 1932 

was held or signed. 

¼¼¼¼dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½    

(For Blind Candidates only) 

uksV %uksV %uksV %uksV %        fuEufyf[kr iz'u dsoy    n`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 
8 ds LFkku ij gSa %  

  The following questions are only for Blind 
Candidates in lieu of Question No. 8 :   

 (i) ml LFkku dk uke crkb, tgk¡ tujy Mk;j ds vkns'k 
ij xksyh pykbZ xbZA      1 + 1 + 1 + 1 = 4 

  Write the name of the place where General 

Dyer order to fire. 

 (ii) ml LFkku dk uke crkb, tgk¡ 6 tuojh 1921 dks 
iqfyl us fdlkuksa ij xksyh pykbZA 

  Write the name of the place where police 

fired at peasants on 6 January 1921. 

 (iii) ml LFkku dk uke crkb, tgk¡ 1922 esa vlg;ksx 
vkUnksyu fgald :i esa cny x;kA 

  Write the name of the place where Non-

cooperation Movement turned into violent 

in 1922. 
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 (iv) ml LFkku dk uke crkb, tgk¡ flrEcj] 1932 esa iSDV 
ij gLrk{kj gq,A      

  Write the name of the place where pact of 

September 1932 was held or signed. 

   [    jktuhfr foKkujktuhfr foKkujktuhfr foKkujktuhfr foKku    ]  [ M. M : 25 

[ POLITICAL SCIENCE ]    

  9. czqlsYl jkt/kkuh gS % 1 

 ¼v½ csfYt;e dh  ¼c½ teZuh dh 

 ¼l½ cksfyfo;k dh  ¼n½ jksekfu;k dh 

 Brussels is the capital of : 

 (a) Belgium (b) Germany 

 (c) Bolivia (d) Romania 

10. vk;jySaM esa fdruh izfr'kr vkcknh çksVsLVsaV gS \ 1 

 ¼v½ 49%   ¼c½ 44% 

 ¼l½ 53%   ¼n½ 63% 

 What percent of Protestant population in 

Ireland ? 

 (a) 49% (b) 44% 

 (c) 53% (d) 63% 
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11. cyqZLdksuh dkSu Fkk \ 1 

 Who was Berlusconi ? 

12. fdfÙkdks-gfDpdks ¼vFkkZr~ rksM+ks vkSj tksM+ks½ uked vkUnksyu fdl 
o"kZ 'kq: gqvk \ 1 

 In which year Kittiko-Hachchiko (meaning Pluck 

and Plant) Movement started ? 

13. csfYt;e ds ekWMy dh eq[; ckrsa fyf[k,A 2 

 Write down the elements of the Belgium model. 

14. usiky esa varfje ljdkj ds dk;ks± dk o.kZu dhft,A 2 

 Describe the functions of Interim Government in 

Nepal. 

15. ncko lewg rFkk jktuhfrd ny esa D;k vUrj gS \ 2 

 What is the difference between the Pressure 

Group and a Political Party ? 

16. usikyh tula?k"kZ dk o.kZu dhft,A 3 

 Describe mass upsurge of Nepal. 

17. jktuhfrd ny dh t:jr D;ksa gS \ 3 

 Why a political party is needed ? 
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18. yksdrU= fdu fLFkfr;ksa esa lkekftd fofo/krk dks laHkkyrk gS 
vkSj muds chp lkeatL; cSBkrk gS \ 3 

 What are the conditions under which 

democracies accommodate social diversities ? 

19. Jhyadk esa cgqla[;dokn dk la{ksi esa o.kZu dhft,A 6 

 Describe in brief majoritarianism in Sri Lanka.  

vFkokvFkokvFkokvFkok    
OR 

 vkfFkZd fodkl fdu dkjdksa ij fuHkZj djrk gS \ 
 What are the factors on which Economic Growth 

depends ? 

   [ Hkwxksy Hkwxksy Hkwxksy Hkwxksy ] [ M. M : 20 

[ GEOGRAPHY ]    

20.    Tokjh; ÅtkZ fuEufyf[kr esa ls fdl çdkj dk lalk/ku gS \ 1 

 ¼v½ iqu% iwfrZ;ksX; ¼c½ vtSo 

 ¼l½ ekuoÑr ¼n½ vpØh; 

 Under which of the following type of resource 

can tidal energy be put ? 

 (a) Replenishable  (b) Abiotic 

 (c) Human made (d) Non-recyclable 
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21. ghjkdqM ck¡/k fuEu unh ij cuk gqvk gS % 1 

 ¼v½ Ñ".kk ¼c½ egkunh 

 ¼l½ dkosjh ¼n½ xksnkojh 

 Hirakud dam is constructed on one of the 

following river : 

 (a) Krishna (b) Mahanadi 

 (c) kaveri (d) Godavari 

22.    çkÑfrd lalk/ku fdls dgrs gSa \ blds dksbZ nksnksnksnks mnkgj.k 
fyf[k,A 1 

 What is Natural Resources ? Give two examples 

of it. 

23. ouksa ds dksbZ pkpkpkpkjjjj ykHk fy[ksaA 1 

 Write down the four benefits of Forest. 

24. fdl Qly dks ^lqugjh js'kk* dgk tkrk gS \ bldk D;k mi;ksx 
gS \  2 

 Which crops is known as 'Golden Fibre' ? What 

are its uses ? 

25. [kfut D;k gS \ ifjHkkf"kr dhft,A 2 

 What is Mineral ? Define. 
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26. m|ksx i;kZoj.k dks dSls çnwf"kr djrs gaS \ laf{kIr esa fy[ksaA 3 

 How do industries pollute the environment ? 

Write in brief. 

27. Ñf"k ds oS'ohdj.k ls vki D;k le>rs gSa \ dksbZ pkjpkjpkjpkj ykHk 
fy[ksaA  6 

 What do you mean by Globalization of 

Agriculture ? Write down its four advantages. 

28. fuEufyf[kr dks HkkjrHkkjrHkkjrHkkjr  ds ekufp= esa n'kkZ,¡ % 
 Marked the following in the outline map of  

India : 

   (i) dkWcsZV jk"Vªh; m|ku   1 

  Corbett National Park 

 (ii) ikjknhi cUnjxkg   1 

  Paradeep Port 

 (iii) dksjck rkih; fo|qr dsUæ     1 

  Korba Thermal Power Station 

¼¼¼¼dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½    
(For Blind Candidates only) 

uksV %uksV %uksV %uksV %        fuEufyf[kr iz'u dsoy    n`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 
28 ds LFkku ij gSa %  

  The following questions are only for Blind 
Candidates in lieu of Question No. 28 :   
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   (i) dkWcsZV jk"Vªh; m|ku fdl jkT; esa fLFkr gS \ 1 

  In which state Corbett National Park is 

located ? 

 (ii) ikjknhi cUnjxkg fdl jkT; esa fLFkr gS \ 1 
  In which state Paradeep Port is located ? 

 (iii) dksjck rkih; fo|qr dsUæ dgk¡ fLFkr gS \   1 

  Where is Korba Thermal Power Station is 

located ? 

   [ vFkZ'kkvFkZ'kkvFkZ'kkvFkZ'kkL=L=L=L=    ]  [ M. M. : 15 

[ ECONOMICS ]    

29. lkoZtfud vkSj futh {ks=d vk/kkj ij foHkkftr gS % 1 

 ¼v½ jkstxkj dh 'krks± ij  

 ¼c½ vkfFkZd xfrfof/k ds LoHkko ij 

 ¼l½ m|eksa ds LokfeRo ij 

 ¼n½ m|e esa fu;ksftr Jfedksa dh la[;k ij 

 The sectors are classified into public and private 

sector on the basis of : 

 (a) employment conditions 

 (b) the nature of economic activity 

 (c) ownership of enterprises 

 (d) number of workers employed in the 

enterprise 
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30. _.k ds vukSipkfjd òksrksa esa 'kkfey ughaughaughaugha gS % 1 

 ¼v½ O;kikjh   

 ¼c½ lgdkjh lfefr  

 ¼l½ fe=    

 ¼n½ lkgwdkj  

 The informal source of credit does not include 

which one of the following ? 

 (a) Traders  

 (b) Cooperative societies 

 (c) Friends 

 (d) Money-lenders 

31. ,d cM+h Hkkjrh; dEiuh dk uke fy[ksa tks oS'ohdj.k dh otg 
ls cgqjk"Vªh; dEiuh ds :i esa mHkjh gSA 1 

 Write the name of one big Indian company which 

is emerged as MNC due to Globalization. 

32. COPRA dk iw.kZ :i fyf[k,A 1 

 Write full form of COPRA. 

33. fons'k O;kikj vkSj fons'kh fuos'k esa varj Li"V djsaA 2 

 Distinguish between Foreign Trade and Foreign 

Investment. 
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34. miHkksDrkvksa ds dksbZ rhurhurhurhu vf/kdkj crk,¡ vkSj çR;sd ij dqN 
ifDr;k¡ fy[ksaA 3 

 Mention any three rights of consumers and 

write a few sentences on each. 

35. i;kZoj.k esa fxjkoV ds dqN mnkgj.k fy[ksa tks vkius vius 
vklikl ns[ksa gksaA 6 

 Write some examples of environmental 

degradation that you may have observed around 

you. 

vFkokvFkokvFkokvFkok    

OR 

 mnkgj.k nsrs gq, çkFkfed] f}rh;d vkSj r`rh;d {ks=dksa ds 
vUrj dh O;k[;k djsaA 

 Explain the difference between primary, 

secondary and tertiary sectors using examples. 

s 
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•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 15 rFkk iz'u 
35 gSaA  

Please make sure that the printed pages in this 

question paper are 15 in number and it contains    

35 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks 
Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij fy[ksaA 

The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 
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•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 
vo'; fy[ksaA 

Before beginning to answer a question, its Serial 

Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 

Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% 
vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u dkVsaA 

Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the 

question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= 
iw.kZ o lgh gS] ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok 
Lohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination. 



 ( 3 ) 4207/(Set : C) 

4207/(Set : C)    P. T. O. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

General Instructions : 

 (i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

  All questions are compulsory. 

 (ii) lHkh iz'uksa ds vad muds lkeus n'kkZ, x, gSaA  

  Marks of all the questions are shown against 

them. 

 (iii) fdlh iz'u ds lHkh Hkkxksa ds mÙkj ,d LFkku ij lkFk-lkFk 
nhft,A  

  Attempt all parts of a question together.  

 (iv) 1 vad okys izR;sd iz'u dk mÙkj ,d okD;,d okD;,d okD;,d okD; ls vf/kd u 
gksA  

  Answer to each question carrying 1 mark 

should not exceed more than one sentence.  

 (v) 2 vadksa okys izR;sd iz'u dk mÙkj 30 'kCnksa ls vf/kd u 
gksA  

  Answer to each question carrying 2 marks 

should not exceed 30 words.   

 (vi) 3 vadksa okys izR;sd iz'u dk mÙkj 40 ls 60 'kCnksa ls 
vf/kd u gksA  

  Answer to each question carrying 3 marks 
should not exceed 40 to 60 words.  
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 (vii) 6 vadksa okys izR;sd iz'u dk mÙkj 100 ls 125 'kCnksa ls 
vf/kd u gksA  

  Answer to each question carrying 6 marks 

should not exceed 100 to 125 words. 

 (viii) iz'u la[;k 8 ,oa 28 ds fy, fn, x;s HkkjrHkkjrHkkjrHkkjr ds js[kk 
ekufp= dks viuh mÙkj&iqfLrdk ds lkFk vo'; layXu 
dhft,A 

  You must attach the given outline map of 

India for Question Nos. 8 and 28 along with 

your answer book. 

 (ix) Ñi;k ekufp= ij viuh mÙkj&iqfLrdk dk ØekadmÙkj&iqfLrdk dk ØekadmÙkj&iqfLrdk dk ØekadmÙkj&iqfLrdk dk Øekad vo'; 
fyf[k,A 

  You must write your Answer Book Sr. No. 

on the map. 

   [ bfrgklbfrgklbfrgklbfrgkl    ]  [ M. M : 20 

[ HISTORY ]    

  1. 1834 esa ç'kk dh igy ij fdl la?k dh LFkkiuk gqbZ \ 1 

 Which union formed at the initiative of Prussia 

in 1834 ? 
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  2. vk;jySaM esa vkyw vdky dc iM+k \ 1 

 ¼v½ 1844-49  ¼c½ 1845-49 

 ¼l½ 1840-49  ¼n½ 1849-55 

 In which year the Irish potato famine around ? 

 (a) 1844-49 (b) 1845-49 

 (c) 1840-49 (d) 1849-55 

  3. ^MkEch ,aM lu* (1848) fdlus fy[kh \ 1 

 Who wrote 'Dombey and Son' (1848) ? 

  4. ^tuHkk"kk* ls D;k vfHkçk; gS \ 1 

 What do you mean by 'Vernacular' ? 

  5. lwjr cUnjxkg 18oha lnh ds vUr rd gkf'k;s ij D;ksa igq¡pk \ 
 3 

 Why the Surat port declined by the end of the 

18th century ? 

  6. cafde pUæ pêksik/;k; dk o.kZu dhft,A 3 

 Describe Bankim Chandra Chattopadhyay. 

  7. eqæ.k dh lcls igyh rduhd dk o.kZu dhft,A 6 

 Describe the earliest kind of printing technology. 
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vFkokvFkokvFkokvFkok    

OR 

 Ýkalhlh ØkfUr ds nkSjku dykdkjksa dh Hkwfedk dk o.kZu dhft,A 

 Describe the role of Artists in the French 

Revolution. 

  8. fn, x, HkkjrHkkjrHkkjrHkkjr  ds js[kk ekufp= ij fuEufyf[kr LFkkuksa dks 
n'kkZb, % 

 On the given outline map of India show the 

following places : 

   (i) Hkkjr dk lcls egÙoiw.kZ 'kgjA    1 

  The most important city of India. 

 (ii) og LFkku tgk¡ 1860 esa ,fYxu fey LFkkfir gqbZA 1 

  The place where Elgin Mill was established 

in 1860. 

 (iii) og LFkku tgk¡ 1918 esa lwrh diM+k dkj[kkuk etnwjksa us 
vkUnksyu fd;kA     1 

  The place where Cotton Mill workers started 

movement in 1918. 

 (iv) og LFkku tgk¡ twu] 1920 esa tokgjyky usg: us nkSjk 
fd;kA       1 

  The place where Jawaharlal Nehru toured 

in June, 1920. 
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¼¼¼¼dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½    

(For Blind Candidates only) 

uksV %uksV %uksV %uksV %        fuEufyf[kr iz'u dsoy    n`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 
8 ds LFkku ij gSa %  

  The following questions are only for Blind 
Candidates in lieu of Question No. 8 :   

 (i) Hkkjr ds lcls egÙoiw.kZ 'kgj dk uke fy[ksaA  

1 + 1 + 1 + 1 = 4 

  Name the most important city of India. 

 (ii) ml LFkku dk uke fy[ksa tgk¡ 1860 bZ0 esa ,fYxu fey 
LFkkfir gqbZA 

  Write the name of the place where the Elgin 

Mill was established in 1860. 

 (iii) ml LFkku dk uke fy[ksa tgk¡ 1918 esa lwrh diM+k 
dkj[kkuk etnwjksa us vkUnksyu fd;kA 

  Write the name of the place where Cotton 

Mill workers started movement in 1918. 

 (iv) ml LFkku dk uke fy[ksa tgk¡ twu] 1920 esa tokgjyky 
usg: us nkSjk fd;kA      

  Write the name of the place where 

Jawaharlal Nehru toured in June, 1920. 
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   [    jktuhfr foKkujktuhfr foKkujktuhfr foKkujktuhfr foKku    ]  [ M. M : 25 

[ POLITICAL SCIENCE ]    

  9. Hkkjr us vius ijek.kq ijh{k.k fd;s % 1 

 ¼v½ jktLFkku esa  ¼c½ xqtjkr esa 

 ¼l½ egkjk"Vª esa  ¼n½ gfj;k.kk esa 

 India conducted its Nuclear Test in : 

 (a) Rajasthan (b) Gujarat 

 (c) Maharashtra (d) Haryana 

10. 2001 esa Hkkjr esa fgUnqvksa dh vkcknh Fkh \ 1 

 ¼v½ 80.5%  ¼c½ 79.8% 

 ¼l½ 68.8%  ¼n½ 85.5% 

 In 2001 the Hindu population in India was : 

 (a) 80.5% (b) 79.8% 

 (c) 68.8% (d) 85.5% 

11. cksfyfo;k esa lks'kfyLV ikVhZ dks lÙkk dc çkIr gqbZ \ 1 

 In which year Socialist Party came to power in 

Bolivia ? 
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12. ,slh rhurhurhurhu Hkk"kkvksa ds uke crkb, tks Hkkjr esa cksyh rks tkrh gSa 
ij tks lwph esa ugha gSaA 1 

 Name three languages that are spoken in India 

but are not included in the table. 

13. vk/kqfud yksdrkfU=d O;oLFkkvksa esa lÙkk dh lk>snkjh ds 
mnkgj.k nhft,A 2 

 In modern democracy, power sharing 

arrangement can take many form. Give example. 

14. cksfyfo;k ds ty;q) dk o.kZu dhft,A 2 

 Describe Bolivia's water war in brief. 

15. Hkkjr dh fo/kkf;dkvksa esa efgykvksa ds çfrfuf/kRo dh fLFkfr D;k 
gS \  2 

 What is the status of women's representation in 

India's legislative bodies ? 

16. ncko lewg ds fuekZ.k dk o.kZu dhft,A 3 

 Describe the formation of Pressure Groups. 

17. yksdrkfU=d O;oLFkkvksa dh xEHkhj pqukSfr;ksa dk o.kZu dhft,A 3 

 Describe serious challenges that democracy face. 
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18. Hkkjr esa ^jktuhfrd lq/kkjksa* ;k ^yksdrkfU=d lq/kkjksa* dk o.kZu 
dhft,A 3 

 Describe the 'Political reforms' or 'Democracy 

reforms' in India. 

19. csfYt;e ds lafo/kku esa 1970 vkSj 1993 ds chp gq, 
la'kks/kuksa dk o.kZu dhft,A 6 

 Describe the constitution amendment between 

1970 and 1993 in Belgium. 

vFkokvFkokvFkokvFkok    
OR 

 jktuhfrd nyksa dks dSls lq/kkjk tk ldrk gS \ 
 How can political parties be reformed ? 

   [ Hkwxksy Hkwxksy Hkwxksy Hkwxksy ] [ M. M : 20 

[ GEOGRAPHY ]    

20.    fj;ks fM tsusjks i`Foh lEesyu dgk¡ gqvk Fkk \ 1 

 ¼v½ vesfjdk ¼c½ czkthy 

 ¼l½ phu ¼n½ tkiku 

 Where Rio de Janeiro Earth Summit was held ? 

 (a) America (b) Brazil 

 (c) China (d) Japan 
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21. fgeky; ;o ls dkSu-lk jlk;u dSalj mipkj ds fy, ç;ksx 
gksrk gS \ 1 

 ¼v½ Vdlksy ¼c½ okjful 
 ¼l½ fgeksXykschu ¼n½ VksjsaVks 
 Which chemical compound is extracted from 

Himalaya Yew for Cancer treatment ? 

 (a) Taxol (b) Warnis 

 (c) Haemoglobin (d) Torento 

22.    ijrh Hkwfe ls D;k vfHkçk; gS \ 1 
 What do you mean by fallow land ? 

23. vkjf{kr ou fdls dgrs gSa \ ifjHkkf"kr dhft,A 1 

 What are Reserve Forest ? Define it.  

24. pV~Vkus fdrus çdkj dh gSa \ muds uke fy[ksaA 2 

 How many types are the Rocks ? Write their 

names. 

25. Lof.kZe prqHkqZt egkjktekxZ ds dksbZ nksnksnksnks eq[; mn~ns'; fy[ksaA 2 

 Write down the two main aims of Golden 

Quadrilateral Super National Highways. 

26. jktLFkku ds v/kZ 'kq"d {ks=ksa esa o"kkZ ty laxzg.k fdl çdkj 
fd;k tkrk gS \ O;k[;k dhft,A 3 

 Explain how rain water harvesting in semi-arid 

regions of Rajasthan is carried out ? 
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27. Hkkjrh; Ñf"k ij oS'ohdj.k ds çHkko ij laf{kIr uksV fy[ksaA 6 

 Write a brief note on the impact of Globalization 

on Indian Agriculture. 

28. fn;s x;s LFkkuksa dks HkkjrHkkjrHkkjrHkkjr  ds ekufp= esa n'kkZ,¡ % 
 Marked the following in the outline map of  

India : 

   (i) lsye bLikr la;a=   1 

  Salem Steel Plant 

 (ii) mdkbZ ÅtkZ dsUæ   1 

  Ukai Power Plant/Centre 

 (iii) dksykj lksus dh [knku     1 

  Kolar Gold Mine 

¼¼¼¼dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½    

(For Blind Candidates only) 

uksV %uksV %uksV %uksV %        fuEufyf[kr iz'u dsoy    n`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 
28 ds LFkku ij gSa %  

  The following questions are only for Blind 
Candidates in lieu of Question No. 28 :   

   (i) lsye bLikr la;a= fdl jkT; esa fLFkr gS \ 1 

  In which state Salem Steel Plant is    

located ? 
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 (ii) mdkbZ ÅtkZ dsUæ fdl jkT; esa fLFkr gS \ 1 

  In which state Ukai Power Plant is located ? 

 (iii) fdl jkT; esa dksykj lksus dh [kku fLFkr gS \   1 

  In which State Kolar Gold Mine is located ? 

   [ vFkZ'kkvFkZ'kkvFkZ'kkvFkZ'kkL=L=L=L=    ]  [ M. M. : 15 

[ ECONOMICS ]    

29. fuEufyf[kr iM+kslh ns'kksa esa ls ekuo fodkl ds fygkt ls fdl 
ns'k dh fLFkfr Hkkjr ls csgrj gS \ 1 

 ¼v½ ckaXykns'k  ¼c½ ikfdLrku 

 ¼l½ usiky   ¼n½ Jhyadk 

 Which of the following neighbouring countries 

has better performance in terms of human 

development than India ? 

 (a) Bangladesh (b) Pakistan 

 (c) Nepal (d) Sri Lanka 

30. fuEufyf[kr esa ls dkSu-lk O;kikj vojks/kd ¼O;kikj esa ck/kd½ 
dk ,d,d,d,d mnkgj.k gS \ 1 

 ¼v½ fu;kZr ij dj ¼c½ vk;kr ij dj 

 ¼l½ eqDr O;kikj  ¼n½ fu;kZr ij çfrcU/k 
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 Which one of the following is an example of trade 

barrier ? 

 (a) Tax on exports 

 (b) Tax on imports 

 (c) Free trade  

 (d) Restriction on exports 

31. ,d vkn'kZ Lo;a lgk;rk lewg esa fdrus lnL; gksus pkfg, \ 1 

 How many members a typical self-help group 

should have ? 

32. fdl {ks=d esa Jfed oLrq,¡ mRikfnr ugha djrs \ 1 

 In which sector, workers do not produce goods ? 

33. çfr O;fDr vk; dh x.kuk dSls djrs gSa \ 2 

 How the per capita income is calculated ? 

34. cgqjk"Vªh; dEiuh D;k gSa \ nwljs ns'kksa esa cgqjk"Vªh; dEifu;ksa 
}kjk mRiknu LFkkfir djus ds fy, fu/kkZj.k djus okyh 
ifjfLFkfr;k¡ crk,¡A  3 

 What is MNC ? Mention the conditions that 

determine to set up production in other 

countries by MNC. 

35. _.k ds vkSipkfjd ,oa vukSipkfjd òksrksa esa D;k varj gS \ 
la{ksi esa fyf[k,A 6 

 What is the difference between formal and 

informal source of credit ? Explain in brief. 
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vFkokvFkokvFkokvFkok    

OR 

 miHkksDrkvksa ds N%N%N%N% vf/kdkj D;k gSa \ la{ksi esa fy[ksaA 

 What are the six rights of consumers ? Explain 

in brief. 

s 
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•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 15 rFkk iz'u 
35 gSaA  

Please make sure that the printed pages in this 

question paper are 15 in number and it contains    

35 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks 
Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij fy[ksaA 

The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 

SET : D 

MAP 
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•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 
vo'; fy[ksaA 

Before beginning to answer a question, its Serial 

Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 

Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% 
vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u dkVsaA 

Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the 

question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= 
iw.kZ o lgh gS] ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok 
Lohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination. 
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lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

General Instructions : 

 (i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

  All questions are compulsory. 

 (ii) lHkh iz'uksa ds vad muds lkeus n'kkZ, x, gSaA  

  Marks of all the questions are shown against 

them. 

 (iii) fdlh iz'u ds lHkh Hkkxksa ds mÙkj ,d LFkku ij lkFk-lkFk 
nhft,A  

  Attempt all parts of a question together.  

 (iv) 1 vad okys izR;sd iz'u dk mÙkj ,d okD;,d okD;,d okD;,d okD; ls vf/kd u 
gksA  

  Answer to each question carrying 1 mark 

should not exceed more than one sentence.  

 (v) 2 vadksa okys izR;sd iz'u dk mÙkj 30 'kCnksa ls vf/kd u 
gksA  

  Answer to each question carrying 2 marks 

should not exceed 30 words.   

 (vi) 3 vadksa okys izR;sd iz'u dk mÙkj 40 ls 60 'kCnksa ls 
vf/kd u gksA  

  Answer to each question carrying 3 marks 
should not exceed 40 to 60 words.  
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 (vii) 6 vadksa okys izR;sd iz'u dk mÙkj 100 ls 125 'kCnksa ls 
vf/kd u gksA  

  Answer to each question carrying 6 marks 

should not exceed 100 to 125 words. 

 (viii) iz'u la[;k 8 ,oa 28 ds fy, fn, x;s HkkjrHkkjrHkkjrHkkjr ds js[kk 
ekufp= dks viuh mÙkj&iqfLrdk ds lkFk vo'; layXu 
dhft,A 

  You must attach the given outline map of 

India for Question Nos. 8 and 28 along with 

your answer book. 

 (ix) Ñi;k ekufp= ij viuh mÙkj&iqfLrdk dk ØekadmÙkj&iqfLrdk dk ØekadmÙkj&iqfLrdk dk ØekadmÙkj&iqfLrdk dk Øekad vo'; 
fyf[k,A 

  You must write your Answer Book Sr. No. 

on the map. 

   [ bfrgklbfrgklbfrgklbfrgkl    ]  [ M. M : 20 

[ HISTORY ]    

  1. ;wthu nsyk Øksvk dkSu Fkk \ 1 

 Who was Eugene Delacroix ? 

  2. vÝhdk esa fjaMjisLV uked fcekjh dc QSyh \ 1 

 ¼v½ 1890 ds n'kd esa ¼c½ 1880 ds n'kd esa 

 ¼l½ 1910 ds n'kd esa ¼n½ 1900 ds n'kd esa 
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 The Rinderpest disease spread in Africa in : 

 (a) 1890s (b) 1880s 

 (c) 1910s (d) 1900s 

  3. ^gkMZ VkbEl* (1854) miU;kl fdlus fy[kk \ 1 

 Who wrote the novel (1854) 'Hard Times' ? 

  4. ^ikesyk* miU;kl dk ys[kd dkSu Fkk \ 1 

 Who was the writer of 'Pamela' novel ? 

  5. baXyS.M esa vk/kqfud 'kgj dk mn; dSls gqvk \ 3 

 How modern city rise in England ? 

  6. ;wjksi esa eqæ.k ds vkxeu dk o.kZu dhft,A 3 

 Describe the arrival of printing in Europe. 

  7. Hkkjr vkus ds ckn xk¡/khth ds lR;kxzg vkUnksyuksa dk o.kZu 
dhft,A 6 

 Describe the Satyagrah Movements organized by 

Gandhiji after arriving in India. 

vFkokvFkokvFkokvFkok    
OR 

 dkj[kkuksa esa dks;ys ds cM+s iSekus ij bLrseky ls dkSu-dkSu-lh 
leL;k,¡ iSnk gqbZ \ 

 Which problems arised due to widespread use of 

coal in factories ? 
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  8. fn, x, HkkjrHkkjrHkkjrHkkjr  ds js[kk ekufp= ij fuEufyf[kr LFkkuksa dks 
n'kkZb, % 

 On the given outline map of India show the 

following places : 

   (i) liuksa dk 'kgjA     1 

  The Dream City. 

 (ii) Hkkjr dh vkfFkZd jkt/kkuhA    1 

  Economic Capital of India. 

 (iii) og LFkku tgk¡ Hkkjr esa igyk ykSg bLikr la;a= LFkkfir 
gqvkA       1 

  The place where the first iron and steel 

plant started. 

 (iv) og LFkku tgk¡ 1820 bZ0 esa loksZPp U;k;ky; FkkA 1 

  The place where Supreme Court was in 

1820 A.D. 

¼¼¼¼dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½    

(For Blind Candidates only) 

uksV %uksV %uksV %uksV %        fuEufyf[kr iz'u dsoy    n`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksan`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 
8 ds LFkku ij gSa %  

  The following questions are only for Blind 
Candidates in lieu of Question No. 8 :   

 (i) liuksa ds 'kgj dk uke crkb,A     1 + 1 + 1 + 1 = 4 

  Name the Dream City. 
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 (ii) Hkkjr dh vkfFkZd jkt/kkuh dk uke crkb,A   

  Write the name of the Economic Capital of 

India. 

 (iii) ml LFkku dk uke fy[ksa tgk¡ Hkkjr dk igyk ykSg bLikr 
la;a= LFkkfir gqvkA 

  Write the name of the place where the first 

Iron and Steel Plant started. 

 (iv) ml LFkku dk uke fy[ksa tgk¡ 1820 bZ0 esa loksZPp 
U;k;ky; FkkA      

  Write the name of place where Supreme 

Court was in 1820 A. D. 

   [    jktuhfr foKkujktuhfr foKkujktuhfr foKkujktuhfr foKku    ]  [ M. M : 25 

[ POLITICAL SCIENCE ]    

  9. nqfu;k ds fdrus ns'kksa esa la?kh; 'kklu O;oLFkk gS \ 1 

 ¼v½ 22   ¼c½ 25 

 ¼l½ 20   ¼n½ 30 

 How many countries have Federal Political 

System in the world ? 

 (a) 22 (b) 25 

 (c) 20 (d) 30 
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10. jkT; iquxZBu vk;ksx fjiksVZ dks dc ykxw fd;k x;k \ 1 

 ¼v½ 1 uoEcj] 1951  

 ¼c½ 1 uoEcj] 1956 
 ¼l½ 1 uoEcj] 1957  

 ¼n½ 1 uoEcj] 1966 

 In which year State Reorganization Commission 

Report was implemented ? 

 (a) 1 November, 1951  

 (b) 1 November, 1956 

 (c) 1 November, 1957  

 (d) 1 November, 1966 

11. esokr fodkl lHkk dh LFkkiuk dc gqbZ \ 1 

 In which year Mewat Vikas Sabha was formed ? 

12. 1947 ds rhurhurhurhu jkT;ksa ds uke crkb, tks vkt cny x, gSaA 1 

 Name three state in 1947, that have been 

changed. 

13. Hkkjr dh la?kh; O;oLFkk esa csfYt;e ls feyrh-tqyrh ,d 
fo'ks"krk] vkSj mlls vyx ,d fo'ks"krk crkb,A 2 

 Point out one feature in the practice of 

Federalism in India that is similar to and one 

feature that is different from that of Belgium. 
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14. jktuhfr esa lkEçnkf;drk dk D;k ;ksxnku gS \ 2 

 What is the contribution of Communalism in 

Politics ? 

15. efgyk laxBuksa vkSj dk;ZdrkZvksa dh ek¡x dk o.kZu dhft,A 2 

 Describe the demands of Women's Organizations 

and Activists. 

16. ncko lewgksa dh xfrfof/k;k¡ yksdrkfU=d ljdkj ds dkedkt esa 
dSls mi;ksxh gksrh gS \ O;k[;k djsaA 3 

 Explain how the activities of Pressure Group are 

useful in the functioning of a Democratic 

Government ? 

17. jktuhfrd nyksa dh pqukSfr;ksa dk o.kZu dhft,A 3 

 Describe the challenges to political parties. 

18. vkSjrksa ds lkFk vHkh Hkh dbZ rjg ds HksnHkko gksrs gSaA mudk 
neu gksrk gSA O;k[;k djsaA 3 

 Women are still facing disadvantage, 

discrimination and oppression in various ways. 

Explain it. 

19. vk/kqfud yksdrkfU=d O;oLFkkvksa esa lÙkk dh lk>snkjh ds vyx-
vyx rjhds D;k gSa \ çR;sd dk ,d,d,d,d mnkgj.k nhft,A 6 

 What are the different forms of power sharing in 

modern democracies ? Give an example of each. 
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vFkokvFkokvFkokvFkok    

OR 

 jktuhfrd ny D;k djrs gSa \ mYys[k dhft,A 

 Mention what does a political party do ? 

   [ Hkwxksy Hkwxksy Hkwxksy Hkwxksy ] [ M. M : 20 

[ GEOGRAPHY ]    

20.    buesa ls fdl jkT; esa dkyh feV~Vh ik;h tkrh gS \ 1 

 ¼v½ jktLFkku ¼c½ vle 

 ¼l½ egkjk"Vª ¼n½ gfj;k.kk 

 In which of the following State black soil is 

found ? 

 (a) Rajasthan (b) Assam 

 (c) Maharashtra (d) Haryana 

21. fuEu esa ls fdl jkT; esa eSaxuht dk vf/kdre mRiknu gksrk  
gS \  1 

 ¼v½ mM+hlk ¼c½ jktLFkku 

 ¼l½ rfeyukMq ¼n½ xqtjkr 
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 In which of the following State production of 

Manganese is maximum ? 

 (a) Orissa (b) Rajasthan 

 (c) Tamil Nadu (d) Gujarat 

22.    ,Y;wfefu;e ds dksbZ nksnksnksnks mi;ksx fy[ksaA 1 
 Write down the two uses of Aluminium. 

23. lrr iks"k.kh; fodkl ls vki D;k le>rs gSa \ 1 

 What do you mean by sustainable development ? 

24. pkoy dh [ksrh ds fy, mi;qDr dksbZ nksnksnksnks HkkSxksfyd ifjfLFkfr;k¡ 
fy[ksaA  2 

 Describe any two geographical condition for the 

growth of rice. 

25. tSo fofo/krk ls vki D;k le>rs gSa \ 2 

 What do you mean by biodiversity ? 

26. lM+d ifjogu] jsy ifjogu dh vis{kk vf/kd çHkkoh gSA la{ksi 
esa fy[ksaA 3 

 Road transport is more effective than rail 

transport. Explain in brief. 

27. ty nqyZHkrk D;k gS \ blds dkj.kksa dk laf{kIr esa o.kZu djsaA 6 

 What is water scarcity ? Write in brief of its main 

causes. 
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28. fn;s x;s LFkkuksa dks HkkjrHkkjrHkkjrHkkjr  ds ekufp= esa n'kkZ,¡ % 
 Marked the following in the outline map of  

India : 

   (i) fHkykbZ bLikr la;a=   1 

  Bhilai Steel Plant 

 (ii) ujkSjk ijek.kq la;a=   1 
  Narora Nuclear Plant 

 (iii) lqUnjcu jk"Vªh; m|ku     1 

  Sunderbans National Park 

¼¼¼¼dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy,½    

(For Blind Candidates only) 

uksV %uksV %uksV %uksV %        fuEufyf[kr iz'u dsoy    n`f"Vghu ijh{kkfFkZ;kn`f"Vghu ijh{kkfFkZ;kn`f"Vghu ijh{kkfFkZ;kn`f"Vghu ijh{kkfFkZ;ksasa sasa ds fy, iz'u la[;k 
28 ds LFkku ij gSa %  

  The following questions are only for Blind 
Candidates in lieu of Question No. 28 :   

   (i) fHkykbZ bLikr la;a= fdl jkT; esa fLFkr gS \ 1 

  In which state Bhilai Steel Plant is located ? 

 (ii) ujkSjk ijek.kq la;a= dgk¡ fLFkr gS \ 1 

  Where is Narora Nuclear Plant is located ? 

 (iii) lqUnjcu jk"Vªh; m|ku dgk¡ ij gS \   1 

  Where is Sunderbans National Park located ? 
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   [ vFkZ'kkvFkZ'kkvFkZ'kkvFkZ'kkL=L=L=L=    ]  [ M. M. : 15 

[ ECONOMICS ]    

29. fuEu esa ls dkSu-lk 'kCn fpUg ¼yksxks½ Ñf"k mRiknksa ds 
ekudhdj.k ds fy, ç;ksx fd;k tkrk gS \ 1 

 ¼v½ vkbZ0 ,l0 vkbZ0  

 ¼c½ vkbZ0 ,l0 vks0 

 ¼l½ gkWyekdZ   

 ¼n½ ,xekdZ 

 Which one of the following logo is used for 

standardization of agriculture products ? 

 (a) ISI 

 (b) ISO 

 (c) Hallmark 

 (d) Agmark 

30. fo'o ds ns'kksa esa cgqjk"Vªh; dEifu;ksa }kjk fuos'k dk lcls 
vf/kd lkekU; ekxZ gS % 1 

 ¼v½ u;s dkj[kkuksa dh LFkkiuk 

 ¼c½ LFkkuh; dEifu;ksa ls lk>snkjh djuk 

 ¼l½ LFkkuh; dEifu;ksa dks [kjhn ysuk 

 ¼n½ LFkkuh; dEifu;ksa ij dj yxkuk 
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 The most common route for investments by 

MNCs in countries around the world is to : 

 (a) Set up new factories 

 (b) Form partnership with local companies 

 (c) Buy existing local companies 

 (d) Imposing tax on local companies 

31. ,p0 Mh0 vkbZ0 (HDI) dk iw.kZ :i fyf[k,A 1 

 Write full form of HDI. 

32. fo"ke dh igpku djsa vkSj crkb, D;ksa \ 1 

 ,e0 Vh0 ,u0 ,y0] Hkkjrh; jsy] ,;j bf.M;k] tsV ,;jost] 
vkWy bf.M;k jsfM;ks 

 Find the odd one out and mention why ? 

 MTNL, Indian Railways, Air India, Jet Airways, 

All India Radio 

33. ,sls nksnksnksnks rjhds fy[ksa] ftuds }kjk cktkj esa miHkksDrkvksa dk 
'kks"k.k gks ldrk gSA 2 

 Mention two ways in which consumers are 

exploited in market. 

34. laxfBr vkSj vlaxfBr {ks=dksa esa vUrj Li"V djsaA 3 

 How would you distinguish between organized 

and unorganized sectors ? Explain in brief. 
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35. ek¡x tek D;k gS \ ek¡x tek dh dksbZ nksnksnksnks fo'ks"krkvksa dk o.kZu 
djsaA  6 

 What are demand deposits ? Describe any two 

features of demand deposits. 

vFkokvFkokvFkokvFkok    

OR 

 oS'ohdj.k D;k gS \ oS'ohdj.k ds dksbZ pkjpkjpkjpkj Qk;ns la{ksi esa 
fy[ksaA 

 What is Globalization ? Explain any four 

advantage of globalization in brief. 

s 

 

 


